MCQ Cardiovascular 1







1.Which is incorrect with regards to Prinz Metal Angina?

a) it produces ST elevation

b) it is usually relieved by nitrates

c) 15% of sufferers have coronary artery disease

d) aetiology= spasm of epicardial coronary arteries

e) it  occurs at rest

2.Which is not true in the management of Unstable Angina?

a) aspirin has been shown to decrease risk of AMI and death by 50%

b) b blockers reduce progression to AMI

c) Nitrates work by decreasing preload and after load and causing a moderate arterial vasodilatation

d) Clopridogril is an ADP receptor antagonist which decreases platelet aggregation

e) Ticlopidine has less severe side effects than clopridogril

3.Which statement is false with regards to cardiac markers?

a) myoglobin is very sensitive very early but has very poor specificity

b) both troponin T and troponin I are specific to cardiac muscle

c) CKMB is found in small but significant amounts in skeletal muscle

d) If the CKMB as a percentage of CK is higher than 10% it suggests AMI

e) CRP is raised in AMI

4.Which is incorrect with regards to Troponin I?

a) at 12 hours its sensitivity and specificity for cardiac pain is about 95%

b) can be used to diagnose unstable angina

c) its presence indicates myocardial cell damage

d) it is predictive of further episodes of angina or AMI in patients with unstable angina

e) normalization can take up to 14 days

5.Which is not true of the ISIS 2 study?

a) It was a large study of about 20 000 patients with AMI

b) it showed that aspirin alone was better than placebo

c) it showed that SK alone was better than placebo

d) it showed that aspirin alone and SK alone had a similar decrease in mortality

e) SK and aspirin together did not lower mortality significantly more than when each agent was given alone

6.When is not true of tPA (GUSTO trial)?

a) it is indicated if a patient has had SK previously

b) it has an increased incidence of ICH in patients over 75 years compared with SK

c) it is only better than SK if  the patient is <75 years with an AnteriorAMI of less than 4 hours duration

d) it improves outcome in RV infarcts compared with SK

e) it is 10 times as expensive as SK

7.Which is not a likely time to use angioplasty in AMI?

a) cardiogenic shock

b) RV involvement

c) Increasing age

d) Ongoing pain post thrombolysis

e) Previous thrombolytic treatment (previous AMI)

8.Which is not an indication for thrombolysis in AMI ( knowing that you need 2 criteria)?

a) ischemic chest pain for at least 30 minutes

b) ST elevation of at least 2 mm or more it two or more consecutive chest leads

c) ST elevation of at least 2 mm or more it two or more consecutive limb leads

d) New LBBB

e) Elevation of the blood cardiac enzyme levels

9.Which is not an absolute contraindication to CPR?

a) BP>180/120

b) Intracerebral hemorrhage within 6 months

c) Pericarditis

d) CPR

e) Pregnancy

10.Which agent has been shown to improve short term mortality in an AMI given thrombolysis?

a) B blockers

b) Calcium channel blockers

c) Heparin 

d) Magnesium

e) All of the above

11.Which agent may be used in the treatment of acute pulmonary oedema but no study has ever proven its benefit?

a) CPAP

b) Intravenous nitrates

c) frusemide

d) nitroprusside

e) high flow oxygen

12.Which is not a true statement with regards to acute pulmonary oedema?

a) management with CPAP or without (not including ventilated patients) does not alter hospital mortality or length of stay

b) CPAP usage as opposed to intubation did not alter length of hospital stay or short term mortality

c) Recovery is related to the production of a diuresis

d) It can be caused by naloxone , head injury and pancreatitis

e) BiPAP needs further study as it may be associated with higher AMI rates

13.Which is incorrect with regards to atrial fibrillation?

a) two thirds will revert spontateously within 24 hours

b) true lone defibrillators have no increased risk of stroke and death

c) the risk of stroke in AF is 4.5% if not anticoagulated

d) with anticoagulation the incidence of stroke is negligible

e) AF requires higher joules than atrial flutter to defibrillate to sinus rhythm

14.Which arrythmia is relatively benign?

a) complete heart block

b) mobitz 2

c) wenkebach

d) ventricular tachycardia

e) bifasicular block

15. Which is incorrect?

a) the normal PR interval is 0.16 – 0.2 secs

b) the normal QRS complex is no greater than 0.12 secs

c) the QT interval is measured from the beginning of the Q to the beginning of the T

d) the normal QTc is < 0.47 secs

e) the PR interval is measured from the beginning of the P to the beginning of the R

16.Which would not cause a left axis deviation?

a) left anterior hemiblock

b) left ventricular hypertrophy

c) pregnancy

d) dextrocardia

e) inferior AMI

17.Which is not a cause of a wide QRS complex?

a) hypothermia

b) hyperkalemia

c) right bundle branch block

d) left anterior hemiblock

e) tricyclic antidepressants

18.Which feature of an ECG would not help make you think that a wide complex QRS rhythm was more likely to be VT than SVT with aberrancy?

a) fusion beats

b) QRS of 0.15 secs

c) Concordance across chest leads

d) Normal axis

e) Fusion beats

19.Which is not true with regards to Torsdes de Pointes?

a) it is nearly always due to a prolonged QT interval

b) it can be caused by 1A and 1C antiarrythmics, sotolol and amioderone

c) DCR is dangerous

d) Magnesium 1-2 mg over 60 secs then an infusion is the treatment mainstay

e) Increasing the HR to 120/min with isoprenaline of overdrive pacing can be effective as it shortens ventricular repolarisation

20.Which is false with regards to the Vaughan Williams classification of antiarrythmics?

a) class 2 and 4 increase the PR interval

b) lignocaine is a class 1C drug

c) class 1 and 3 increase the QT interval

d) sotolol is a class 2 and 3 drug

e) amioderone fits into all 4 classes

21.Which is not good management in RV AMI?

a) IV GTN

b) 1 – 2 L Normal Saline

c) thrombolysis

d) pacing if CHB

e) nitroprusside if associated LV dysfunction

22.Which is true with regards to LMW heparin versus unfractionated heparin in AMI?

a) It has a higher mortality

b) It has a lower mortality

c) It makes no difference to mortality

d) Trials are still underway

e) Its levels need to be monitored

23.Which ECG change should not be seen in any stage of pericarditis?

a) diffuse ST elevation less than 5mm

b) PR depression

c) Normal ECG

d) T wave inversion

e) Diffuse Q waves

24.What is not true of Becks triad?

a) There is hypotension

b) There is pulmonary oedema

c) There are soft heart sounds

d) There is an elevated JVP

e) It is found in cardiac tamponade and tension pneumothorax

25.Which may you not see in an ECG of a pt with HOCM?

a) P mitrale

b) LV hypertrophy

c) Large septal Q waves

d) Prolonged QT interval

e) You nay see all of the above

26.Which antibiotic is not recommended  in Anitbiotic Guidelines 2001 to empirically treat endocarditis of either native or prosthetic valves?

a) benzyl penicillin

b) flucloxacillin

c) gentamicin

d) vancomycin

e) ceftriaxone

27.Which is incorrect with regards to severe aortic stenosis?

a) hypovolemia can exacerbate symptoms

b) the most common cause is congential abnormality

c) in an acute deterioration nitroprusside will be beneficial

d) syncope is a common presenting complaint

e) acute atrial fibrillation may cause a sudden deterioration

28.Which is the incorrect classification of aortic dissection?

a) Stanford type A – involves ascending aorta

b) De Bakey type 2 – involves ascending aorta only

c) De Bakey type 1 – involves the arch aorta only

d) Stanford type B  - involves descending aorta only

e) De Bakey type 3 – involves the descending aorta only

29.Which is not true of imaging of aortic dissection?

a) TOE and MRI have an extremely high sensitivity making them good diagnostic tests

b) Conventional CT has an unacceptably low sensitivity and if negative requires another investigation

c) Aortography, if negative, adequately excludes an aortic dissection

d) Spiral CT is possibly as sensitive as MRI and TOE

e) Aortography can detect branch vessel involvement and aortic incompetence

30.Which is incorrect with regards to management of aortic dissection?

a) Narcotic analgesia is required

b) B blockade is used to lower HR and thus BP

c) Nitroprusside is the initial agent used to lower BP

d) Ascending aortic dissections are usually treated surgically

e) Descending aortic dissections are usually treated medically

31. Which is not a predisposing factor for aortic dissection?

a) hypertension

b) raynauds disease

c) marfans syndrome

d) aortic valve disease

e) angiography

32.Which is not true of superficial thrombophlebitis?

a) antibiotics are indicated

b) if moderately severe, treatment is with bed rest, elevation of the limb and hot compresses, if mild with elastic stockings and normal activity

c) if associated with a varicose vein, it may recur unless the vein is excised

d) the pt is at no increased risk of DVT

e) anticoagulation is only necessary if the process extends into the deep system of approaches the saphenofemoral junction

33.Which is not true with regards to DVT management?

a) all DVTs of the popliteal vein and above should be treated with anticoagulation

b) the sensitivity and specificity of ultrasound is 95%

c) the chance of a PE from a below knee DVT is 5%

d) LMW heparin is probably as safe and efficacious as unfractionated i.v. heparin

e) Below knee DVT’s should be treated with aspirin alone

34.What is considered to be ‘hypertensive’ ?

a) >140/90

b) >150/90

c) >160/95

d) >170/100

e) >180/100

35.Which is not a finding specific to an hypertensive emergency?

a) cotton wool spots

b) retinal hemorrhages

c) papilloedema

d) silver wiring

e) all of the above are potentially an effect of malignant hypertension

36.Which is an incorrect statement with regards to the management of a hypertensive emergency?

a) in all bar preeclampsia, sodium nitroprusside is usually  the first line agent

b) the aim is to lower the MAP by 20-25% over 2 hours

c) if signs of end organ damage worsen after lowering the MAP by 20 %,  then the BP should be lowered another 20% then reassess

d) the MAP is closer to the DBP than the SBP

e) labetalol and GTN are other useful intravenous agents

37.Which statement is correct with regards to finding a BP of 190/110 with no signs of symptoms of actual of impending end organ damage?

a) iv. Nitoprusside should be commenced to prevent a hypertensive emergency

b) a GTN patch should be applied an the patient discharged for review by LMO within 24hours 

c) sublingual nifedipine should be given immediately and the patient discharged on a daily oral dose

d) if the patient is otherwise well they should be discharged without intervention for LMO reassessment within 24 hours

e) they should be discharged with a 24 hr halter monitor

38.Which is true with regards to the use of D Dimer in the diagnosis of PE?

a) it is a fibrin degredation product

b) the latex test lack sensitivity making it useless

c) the ELISA test has a sensitivity of > 90%, making it useful if the test is negative

d) DDH and MMC do the latex test

e) All of the above are true

39.Which statement is false with regards to PE?

a) in 80% of pts the CXR is abnormal

b) only 5% of patients have p02 > 80mmHg

c) 20% of patients will have a normal A-a gradient

d) the most sensitive symptoms are dyspnoea and pleuritic chest pain

e) the mortality is 30% left untreated and 10 % treated with anticoagulation

40.Which is incorrect with regards to thrombolysis in PE?

a) thrombolysis has not been proven to be improve mortality compared with heparin in massive PE

b) embolectomy if available is associated with a better outcome than thrombolysis

c) tPA and SK  have the same angiographic and qualitative improvements at 12 hrs

d) pulmonary dynamics improve more quickly with tPA

e) tPA has significantly better outcomes at two hours

41.Some education:   the PIOPED study 

Prospective Investigation of Pulmonary  Embolism Diagnosis

· compared VQ scan to angiogram

· results released in 1990

· VQ scan (low intermediate or high probability) = 98% sensitive for PE but only 10% specific - ie  many pts without PE also had these results

· In 88% of  high probability VQ scans the patient had a PE on angiogram

· Of those with PE only a minority had a high probability VQ = (41%sensitive,97%specific)

· In  only 33% of intermediate VQ scans did the pt actually have a PE

· In only 12% of low probablility VQ scans did the pt actually have a PE

Conclusion: clinical assessment and VQ scan established the diagnosis in only a minority of patients

42.Which drug should be avoided if  Viagra has been taken in the previous 24 hours?

a) captopril]

b) nitrates

c) verapamil

d) sodium nitroprusside

e) adenosine

43.Which drug below does not interact with Warfarin increasing its anticoagulant effect?

a) amioderone

b) doxycycline

c) metronidazole

d) SSRI


e) Sotolol

44.Which is false about thrombolysis and heparin?

a) Unfractionated  heparin should be given following SK

b) Unfractionated  heparin should be given following tPA

c) Unfractionated  heparin should be given following rPA

d) when given, the heparin can be commenced before, during of after the thrombolysis

e) all of the above are correct

 45.Which antiarrythmic is OK in Torsades de Pointes?

a) sotolol

b) amioderone

c) lignocaine

d) flecainide

e) quinidine

46.Which is incorrect with regards to the JVP?

a) the a wave is due to right atrial contraction

b) the v wave is due to right atrial filling

c) the JVP is measured from the sternal angle with the patient at 45degrees

d) giant a waves are seen in tricuspid stenosis or raised pulmonary pressures

e) large v waves are seen in tricuspid incompetence

f) kussmauls sign is a fall of the JVP on inspiration

47.With regards to cardiac murmurs which is false?

a) VSD is a pansystolic murmur

b) HOCM is an ejection/mid systolic murmur

c) PDA and coarctation murmurs are continuous

d) Aortic stenosis is an ejection/systolic murmur

e) Aortic incompetence is late systolic murmur

48.Which statement is incorrect??

a) the third heart sound can be physiological in pregnancy and below the age of 40

b) the third heart sound is an important sign of left ventricular failure

c) the third heart sound may occur in AI, MI, VSD and PDA

d) the fourth heart sound can be physiological below 40 years of age

e) the fourth heart sound is due to a high pressure have reflected back from a non compliant ventricle

49.Which is a false statement in the management of unstable angina?

a) unfractionated heparin when used with aspirin reduces death and AMI c.f placebo

b) enoxaparin is superior to unfractionated heparin but dalteparin is not

c) the benefits of  glycoprotein 2b3a receptor antagonists are additive to the use of revascularisation

d) nifedipine and felodipine alone reduce death and AMI

e) glycoprotein 2b3a receptor antagonists plus aspririn and unfractionated heparin decarease death and AMI

ANSWERS

1)C
2)E
3)D
4)B
5)E
6)D
7)E
8)C
9)D
10)A
11)C
12)C

13)D
14)B
15)C
16)D
17)D
18)D
19)C
20)B
21)A
22)B
23)E
24)B

25)D
26)E
27)B
28)C
29)C
30)C
31)B
32)A
33)E
34)A
35)D
36)C

37)D
38)E
39)B
40)B

42)B
43)E
44)A
45)C
46)F
47)E
48)D

49)D
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